Vista da 4

52

SP~50/70\ J45.5 Guarnljﬁ;ne
| in grafite
N 1

2 Distanzialt

028 ‘ - 0i10,5 0e20x18h RIDUZIONE
4>‘ 69 ‘«
Staffa attacco 2 Grover 910
parafango
2 Dadi M8 \ g
D)
2 Dadi M6 720
Brugola
M6x14

®

=

@

< Brugole
M10x40

Vite
S8 Dadi M6 — M8z25
3 Rondelle Vile
3 Grower M8x35

Scala approx. 7 . 5

Juote realt tm millimetri

ART 55553 Silenziatore HAND MADE ~ZX'  per

MALAGUTI F12 Phantom 700 (Air cooled)



